Basic Algebra 1.4
Use the distributive property to evaluate expressions

term

like terms Same Vval.
coefficient (Some wpen) &Y 4+ 233

equivalent expression

simplify (simplest form) 3ntSn= 3
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3. Determine which two expressions are

equivalent. Explain how you deterpé#ed your answer. —
Wa, 20n + 3p b. ln+p—4n+2p = 13dn +3
c. 16n+4p +4n 30 VH"IP d. 12p + 3n
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Whiteboards

Simplify each expression. (Examples 1-4)
8. 5x + Ox 9. 4y +2 -3y
10. 2(5¢ + 39) 11. 3(4 — 6m)



Simplify each expression.
15. 16f + 5f 16. 9a + 6a
17. 4r —r 18. 3+ 7 — 2st



27. 2y +y +y 28. bp + 25bp + p

29. 30. 5(n + 2r) + 3n
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35. What is the value of 6y decreased by the quantity| 2y plus
equivalent to 3? —_— T
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